Nostalgi bank

Nostalgi bank Monteringsanvisning
x 2 gavl p
gaver I Llagg de tva toppdelarna upp och ner pa en plan yta
& x 2toppdelar och tré in rundstavar i de tvé ytterkanterna. Fyll pd
== x 11 rundstavar med de resterande sex rundstavarna.
Tzz  x 16 monteringsskruvar (M5 x 25) P
- 9 ” 2 Tryck till pa mitten av varje toppdel, s& aft
SE 1 pase med stoppskruvar rundstavarna ligger emot l&ngsidorna pé toppdelen.
=% |nk|U5|Ve |nSeXnkae|

3 Borja fran vénster sida och placera en gaveldel
ovanpé den vanstra toppdelen och se fill att

S — .
hdlen fér rundstavarna som é&r fér skohyllan ar

‘ ‘ placerade indt. Satt i alla monteringsskruvar s att
de hittar sin position i gdngorna. Skruva sedan i
monteringsskruvarna i de fyra mittersta skruvh&len forst
och sedan i de tvé& skruvhélen i bada ytterkanterna.

Nostalgi bénk, pabyggnadsdel Véxeldra skruvarna sida till sida.
x 1 mellankonsol

- Nar gaveln vl ér pa plats, sétt in de resterande tre

rundstavarna i gaveln. Skruva fast med bifogade
= x 11 rundstavar stoppskruvar. Se till aft rundstavarna &r ordentligt
D= x 8 monteringsskruvar (M5 x 25) intryckta mot gaveln och skruva ét tills skruven ar plan
mot gavelhélen.

— x 1 toppdel

% x 1 pése med stoppskruvar
N inklusive insexnyckel

Placera den hégra gaveln pé toppdelen och tré in
rundstavarna fér skohyllan i de tre hélen. Har kan man
T et i behdva dra ut toppdelen négot fér aft det ska passa.
Upprepa moment 3 Gven med den andra gaveldelen.

Y1

G Kontrollera aft alla skruvar &r ordentligt &tskruvade.
Din Nostalgi bank &r nu redo att anvandas.

Pabvggnadsdel
Vid pdbyggnadsdelen ska rundstav monteras s& att

de méts i mitten av mellankonsolen. Bérja alltid frén
vénster och bygg pé& del fér del enligt moment 3.

> :
Essem  +037119410 /7 [ElifhE
info@essem.se Se video med monteringsinstruktioner. :' ﬁ

DeSign www.essem.se



Nostalgi Bench

Assembly instructions

Nostalgi Bench

2 end panels

2 top pieces

11 wooden bars

16 mounting screws (M5 x 25)

1 bag with set screws
including a hex key

:

— x
[z«

X

=

Nostalgi Bench, attachment part

1 intermediate bracket

1 top piece

11 wooden bars

8 mounting screws (M5 x 25)

1 bag with set screws
including a hex key

(V]

Jl1

Place the two top pieces upside down on a flat surface
and thread the wooden bars into the two outer edges.
Fill with the remaining six wooden bars.

Press the centre of each top piece so that the wooden
bars are against the long sides of the top piece.

Starting from the left side, place one end panel on top
of the left top piece, making sure that the holes for the
wooden bars for the bench are positioned inwards.
Insert all mounting screws so that they find their position
in the threads. Screw the mounting screws into the four
centre screw holes first and then into the two screw
holes at both outer edges. Alternate the screws side

to side.

Once the end panel is in place, insert the remaining
three wooden bars into the end panel. Secure with the
enclosed set screws. Make sure the wooden bars are
firmly pressed against the end panel and tighten until
the screw is flush with the panel holes.

Place the righthand end panel on the top section and
thread the wooden bars for the bench into the three
holes. You may need fo pull the top section out slightly
to make it fit. Repeat step 3 with the other end panel.

Check that all screws are properly tightened. Your
Nostalgi Bench is now ready to use.

Attachment part

ESSGm +46(0) 371 19410

info@essem.se

DeSign www.essem.se

For the aftachment part, fit the wooden bars so that
they meet in the centre of the infermediate bracket.
Always start from the left and build up part by part
according to step 3.

/7 EEE
Watch video with assembly instructions. rll ﬁ

[=]



